G E A E bR B2 B DEEK

112 # 6 % 30 p j2i% ¢ il 18

LR O|EY i 7 a 13 b2 7 By o
o Feir € R (10:00) ~ i 17 e B (13:30)
6130 | T |o REN S RIBEHR P SRE R T2 EDFER L
C S AR B
RN LHKFEIEH S FR (1600 %)
T e 9:00-11:00 2 B = ERFHF (LB = HBFEL L)
715 [ = [+ 12:00 Aeoeg 4 248 639 -
716 [ & [+ #2252 (16:00%)
T e 9:00-11:00 2 B Z E R H (2 B 2 AL )
7110 - [+ 5-8p#3
o ¥ %gﬂ’f’d’{ A SR
T111 | = |o B9 @~ £a0 % 22 (11 2 00) ;;??
C LRRFEARTFIFH AT 00H) T
R T T ECERD) e
TV 2 | moems a3 - 3597 paangad v | PTH=
T3] ® [« ~8afplsk Gbg ) A LR S
* 9:00~11:00 B - #7424 » F3F 5|
T114 | 3 |+ T/14-18 £ 347 & B 4
« 9:00~11:002 % = ERFH (L 3 = i o2 F = Fhith)
T|15 | = |+ B39 F2 89 FrawieE+ @ 23:59 # 1 o
AL 4§
Tpe]n BE G R
i i3 B (e
- C F P AR 2R L (19100 % B%T 4y
T118| = |+ B--ERBBAELRL2:00%) - A
e R 75d VAlRS's
7119 = | 1%k s ¥
feed BTy
7120 | = [+9:00~11:002 3 = ER$F(AF = ird o2 F = frditm)|e %L 4 Y
T120 [T [ 22®- 372 %re(F 8 ) o (17: 00 %) R
7128 p [« B¢ X8 ¥ FamieEing 23:50 & 4 o
7)o |- [P BB RBFERL AL
c B ERBEL - Jeif B iy
. AFL 24
B fe 3 3 i
Tl26 | 2 |7 ST EERASR SR LE(REL) - AEXC Y
- g3 gy R R
127 [ = [« 522 ¢z "
EENY T
e Bz APRmAG L2 FE Sl O F R L(F | N
TIB T o) gt 58 A A Fh K7 1B - ARLLE
. 7/28-8/04 A FLiplskH 2 ¥t (12:00 ) -




WIE) -
REFEZDBEFIF T/17-8/16 (W= &% % )e

. BRI AL
9/5 (= )~9/6 ('>E£]:.§:— T B2
. W”{i Rit-£3F5 44 1 7/16~8/11(% - i=

T129 | = 17:30 & fLiplskisgbAtrin (WH2) .
T181 | - |+ B9 pAPEEFFGFE) (KA 14:00FRL) - « WU LY
A FLiplE E e A B R 8/01~8/4(16:30 1k )
81 1 | = 1128 E#R%-BEHF Y EXFFIN(FF~E) - c W%E 4§
B pAPRFAFCE) KA 14 00PFRFE) -
Bl 2 | = |+ 325 Z&ptmy (27=) « FEE 4 ¥
8| 3 | m |+ A28 = ®pmy (2 7%) c WL LY
8| 4 | T |+ ®° pAPEEFFEF) (REZ 14100 R - WL LA
. . . . . Kf‘% é\ Sl
8| 7 | - FUORRPEMFAFGEP) (KF 2 1400FE L) - -'rﬁ:éﬁéf%g
8 8 | = |« #  Hemai g (R 14: 00 pm4) e CEFL LY
- —f = T s R BTy
8 9 _ r’g\:‘ %K§4 r, H#fﬁi__,ﬁtf””ip #s Y ¢ |~~‘5§:_i» %FTFJ?(CPR{-AED)J B’,}. Wpﬁ_}gé’»%
- T i RRA2(13:00-16:00) o R B ITY
|10 | = C WEL LY
8|11z TR Ly
8|14}~ - R B ey
8116 | = PARENE A R e SEA: e s
816 | = |+ ¥ Faediv | gk . BTy
817 | = |+ IEP €3£ 13:30-3:00(-1 - ~ B®- ~ & - #74) .
NZER S S S
8|18 | T |+ IEP ¢3%13:30-3:00(F% - < & =) .
B rpE L (Rgw)o
_ | wEFEY
8| 21 Fed S AL (R K )
_ | REAY
S22 ) = | g il b (i 8 )
olog | = |+ B- ~R-AT29 473 8: 00 54 - .
T e BwEFI ARG E )
8|24 | w |o F- ~F-ATLPP - A72 8100 542 - .
EHep (8:00) 4=k FE (RAFE)-BHWEHRU0:10)- 52
8129 | = WHELTL R €(12:10) ~ #3x €% (13:30) - .
1128 2R3 - 7372 B & & (T:30~11:20)
RELARB:00) gy & o
8130 | = - T8 20) ~ B ATA R Ak (10 2 00-11 2 00) .
LIRWT EE(EHE)
. PR R E D T613875 # H10~514(FKix ) o # 520~524(F i3 /) » # 560~564(H # %) -

%v:«k§/? By ~ B - FRERY -
TR EF-MHF-FF- Ko

B




